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Solutions by Mansur Boase, student, St. Paul's School, London, Eng-

land and Edward T.H. Wang, Wilfrid Laurier University, Waterloo, Ontario.
We give the solution by Boase.
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by the Cauchy{Schwarz inequality.
Thus

nX
i=1

s

ai
� n2:

Hence

nX
i=1

s� ai

ai
� n2 � n = n(n� 1).

To prove the �rst inequality, �rst note that
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By the Cauchy{Schwarz inequality,
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So, both inequalities are proved.

8. [1996: 58] Telecom 1993 Australian Mathematical Olympiad.
The vertices of triangleABC in the xy{plane have integer coordinates,

and its sides do not contain any other points having integer coordinates. The
interior of ABC contains only one point, G, that has integer coordinates.
Prove that G is the centroid of ABC.


